3 Race Series - ALL Riders
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Craig Ingram 12 12 0 24
Graham Phillips 10 12 0 22
Bryan Mclntyre 12 8 0 20
Luke Dingley 8 10 0 18
Andrew Thomas 12 6 0 18
Damien Greig 12 5 0 17
Matt Hawthorn 7 10 0 17
lan Lett 5 12 0 17
Bill Robinson 7 10 0 17
Richard Tormet 12 5 0 17
Damian Vears 12 5 0 17
Louise Beazley 10 5 0 15
Paul Beazley 5 10 0 15
Peter Grivell 10 5 0 15
Michael Hoile 10 5 0 15
Craig Beddome 6 8 0 14
Colin Bazeley 5 8 0 13
Suzie Gray 5 8 0 13
David Milne 5 8 0 13
David Cox 7 5 0 12
John Crafter 5 7 0 12
Sam Jeffries 5 7 0 12
Richard Mackenzie 0 12 0 12
Scott Newstead 0 12 0 12
Alison Skinner 0 12 0 12
David Tichy 5 7 0 12
Simon Veitch 5 6 0 11
John Antonio 5 5 0 10
Michelle Bailey 0 10 0 10
Peter Daish 10 0 0 10
Simon Dawe 5 5 0 10
Matthew Edge 10 0 0 10
Rick Gibki 5 5 0 10
David Hartland 5 5 0 10
Peter Kennedy 5 5 0 10
Jason Langbein 5 5 0 10
Stephen Martin 5 5 0 10
Graeme Orchard 5 5 0 10
David Paul 5 5 0 10
Sarah Rawlinson 5 5 0 10
Phil Robinson 5 5 0 10
lan Routledge 5 5 0 10
Jean-Noel Seneque 0 10 0 10




Alister Smith 5 5 0 10
Gavin Tamblyn 5 5 0 10
Victoria Veitch 5 5 0 10
Mike Elleway 8 0 0 8
Jon Herd 0 8 0 8
Adam Kerin 8 0 0 8
Barry Pattison 8 0 0 8
Robert Walker 8 0 0 8
Peter Fry 7 0 0 7
Patrick O'Kane 0 7 0 7
Con Bastiras 6 0 0 6
David Norton 6 0 0 6
Frank Schoen 0 6 0 6
Chris Attrill 5 0 0 5
David Barrett 0 5 0 5
Geoff Bate 0 5 0 5
Dean Bevelander 0 5 0 5
Colin Chapman 0 5 0 5
Len Daniels 0 5 0 5
Phil Davill 5 0 0 5
Wayne Edwards 5 0 0 5
Duncan Fowler 5 0 0 5
Josh Goodwin 5 0 0 5
Simon Grenfell 5 0 0 5
Fred Guilhaus 5 0 0 5
Stuart Heseltine 0 5 0 5
Evan James 0 5 0 5
Kathleen Jones 0 5 0 5
Daniel Kelly 5 0 0 5
Michael Kepka 5 0 0 5
Philip Norris 5 0 0 5
Terry Proctor 0 5 0 5
Chris Rogers 0 5 0 5
Mark Rupert 5 0 0 5
Mark Sierp 0 5 0 5
Matt Summers 0 5 0 5
Jason Tattersall 5 0 0 5
Barry Taylor 0 5 0 5
John Toshach 0 5 0 5
Tim Vale 5 0 0 5
George Vlahos 5 0 0 5
Andrew Wallis 5 0 0 5
Andrew Weatherill 5 0 0 5
Roger Welch 5 0 0 5
Giovanni Zoanetti 0 5 0 5




